
 

Model Question Paper (Preliminary Examination) for revised syllabus pertaining 

to the recruitment to the posts included in Combined Civil Services                             

Examination  - II / II A (Group – II/II A Services)   (Hosted on 01.11.2019) 

xU’;fpize;j Foikg;gzpfSf;fhdj; njh;t[ - II / II A (bjhFjp- II / II A gzpfs;) - ,d;         

Kjy; epiyj; njh;tpw;fhd khw;wpaikf;fg;gl;l ghlj;jpl;lj;jpw;fhd khjphp tpdhj;jhs;                       

(01/11/2019 md;W gjpntw;wk; bra;ag;gl;lJ) 

 

1. What are the characteristics of “rote learning” ? 

 (i) Does not allow the learner to associate himself / herself with 

the surroundings. 

 (ii) Infuses rigidity in the thinking process. 

 (iii) Allows the learner to dynamically adapt to the changes in the 

surroundings. 

 (iv) Improves the questioning ability. 

 

 

 

 

bghUSzuhky; fw;wYf;Fhpa gz;gpay;g[fs; ahit ? 

 (i) fw;gth; jd;idr; Rw;wpa[s;s NHnyhL xU’;fpize;J bray;gl 

mDkjpg;gjpy;iy/ 

 (ii) rpe;jpf;Fk; Kiwapy; ,Wf;fkhd jd;ikia cl;g[Fj;JfpwJ/  

 (iii) fw;gtiur; R{H;epiyf;nfw;g bjhlh;e;J cj;ntfkhfj; jd;id khw;wpf; 

bfhs;s mDkjpf;fpwJ/ 

 (iv) nfs;tp nfl;Fk; jpwid mjpfhpf;fpwJ/ 

 

 

 

 

[A] (iii) only [B] (i) only 

[C] (i), (ii) and (iv) only [D] (i) and (ii) only 

[A] (iii)  kl;Lk; [B] (i)   kl;Lk; 

[C] (i), (ii) kw;Wk; (iv) kl;Lk; [D] (i) kw;Wk; (ii)  kl;Lk; 
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2. Which one of the following is the best anti-dote to superstitious 

beliefs ?  

 [A] Scientific Knowledge. 

 [B] Scientific temper. 

 [C] Untested and un-proven knowledge. 

 [D] Strong faith in the long held ideas. 

 

gpd;tUtdtw;wpy; K:l ek;gpf;iffSf;fhd kpf tPupakhd vjpu; kUe;J vJ ?  

 [A]  mwptpay; mwpt[/ 

 [B] mwptpay; kdg;gh’;F/ 

 [C] Ma;t[f;F cl;gLj;jg;glhj kw;Wk; epU:gpf;fg;glhj mwpt[. 

 [D] ePz;;l fhykhf ,Ue;J tUk; vz;z’;fspd; kPjhd ek;gpf;if/   
 

3. What are the characteristics of “Scientific temper” ? 

 (i) Questioning others‟ ideas irrespective of their social position.  

 (ii) Analyzing others‟ opinions.  

 (iii) Applying logic.  

 (iv) In view of others‟ social position, accepting their ideas without 

questioning or analyzing them.  

 

 

 

 

 

 

 

 

[A] (i) and (ii) only [B] (ii) and (iii) only 

[C] (iv) only [D] (i), (ii) and (iii) only 
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mwptpay; kdg;gh’;fpd; gz;gpay;g[fs; ahit >  

 (i) kw;wth;fspd; fUj;Jf;fis mtu;fspd; rK:f epiyiag; 

bghUl;gLj;jhky; nfs;tpf;Fs;shf;FtJ/ 

 (ii) kw;wth;fspd; fUj;Jf;fisg; gFg;gha;t[ bra;tJ/  

 (iii) ju;f;fj;ij gad;gLj;JtJ/  

 (iv) kw;wtu;fspd; fUj;Jf;fis mtu;fspd; rK:f epiyapd; fhuzkhf 

nfs;tp nfl;fhkYk;. gFg;gha;t[ bra;ahkYk; Vw;Wf; bfhs;tJ/  

 

 

 

 

 

4. The reason behind the spectacular brilliance of diamonds and 

twinkling of stars is:   

 [A]  Total internal reflection [B] Total external reflection 

 [C] Partial reflection [D] None of the above 

     

   ituk; fz;izf; ftu b$hypg;gjw;Fk;. tpz;kPd;fs; kpd;Dtjw;Fk; fhuzk; : 

 [A] KG mf vjpbuhspg;g[/ [B] KG g[w vjpbuhspg;g[/ 

 [C] gFjp vjpbuhspg;g[/ [D] nkw;Twpa vita[k; ,y;iy/ 

 

 

 

 

 

[A] (i)  kw;Wk;  (ii) kl;Lk; [B] (ii)  kw;Wk;  (iii) kl;Lk; 

[C] (iv)  kl;Lk; [D] (i), (ii) kw;Wk; (iii) kl;Lk; 
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Tw;W (A):  

 

 

fhuzk;( R ) :  

rpy fly; Mikfs; (yhfu;b~l; fly; Mik) mit gpwe;j 

flw;fiunahuk; gy Mz;LfSf;Fg; gpwFk; te;J 

Kl;ilapLfpd;wd/ 

 

Mikfs; j’;fsJ gpwe;j flw;fiuiaf; fz;lwpa g[tpf;fhe;j 

cUg;gjpj;jy; vDk; Kiwiaf; ifahSfpd;wd/ ,e;j 

Mikfs; gy;ntW ,l’;fspd; fhe;jg;g[ytypikia epidtpy; 

bfhs;Sk; Mw;wy; cilait/ ,J mit jhafj;jpw;Fj; 

jpUk;g[tjw;F cjt[fpwJ/ 

 

 

 

 

 

 

The turtle compressive variations in 

magnetize parameter of earth memory helps 

them in returning  to their homeland 

 

 [A]  (A) சரி, ஆனால் (R) jtW/ 

 [B]  (A) kw;Wk; (R)  ,uz;Lk; சரி,  ம஫லும்; (R) என்பது  (A) tpw;F 

rhpahd tpsf;fkhFk;/ 

 [C] (A) jtW, ஆனால் (R) சரி / 

 [D] (A) kw;Wk;  (R) ,uz;Lk; சரி, ஆனால் (R) என்பது  (A) tpw;F rhpahd 

tpsf;fky;y/  

 

5. Assertion(A):  

 

 

 

Reason ( R ) :  

Some sea turtles (loggerhead turtles) return to their birth 

beach many decades after they were born to nest and lay 

eggs. 

 

The turtles can perceive variations in magnetic parameters 

of Earth which memory helps them in returning to their 

homeland. 

  [A]  (A) is true , (R) is false. 

 [B] Both (A) and (R) are true and (R) is the correct explanation       

of (A). 

 [C] (A) is false (R) is true. 

 [D] Both (A) and (R) are true , but (R) is not the correct explanation 

of (A). 
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6. If a single nail pricks our body, it is very painful. How it is 

possible for the people to lie down on a bed of nails and still 

remain unhurt ?  

  

 

 [A] Because the area of contact is the same. 

 [B] Because the area of contact is less. 

 [C] Because the area of contact is more. 

 [D] None of the above. 

rpW Mzp ekJ cliyj; Jisf;Fk; nghJ typia czh;fpnwhk;/ Mdhy; rpyh; 

Mzpg; gLf;ifapy; gLj;jhYk; mth;fSf;F ve;jg; ghjpg;g[k; Vw;gLtjpy;iyna 

- vg;go?  

 

 [A] Vbddpy; mjd; bjhL gug;g[ rkk;/ 

 [B] Vbddpy; mjd; bjhL gug;g[ Fiwt[. 

 [C] Vbddpy; mjd; bjhL gug;g[ mjpfk;. 

 [D] nkw;Twpa vJt[kpy;iy/  

7. When you go for a ride in a merry-go-round in amusement 

parks, you will experience an outward pull as merry-go-round 

rotates about the vertical axis.   The reason for this is : 

 
 [A]  Centrifugal force [B] Centripetal force 

 [C] Straight line force [D] Circular force 

bghGJnghf;Fg; g{‘;fhtpy; Fil ,uhl;odj;jpy; Rw;Wk;nghJ. Fil ,uhl;odk; 

xU br’;Fj;J mr;irg;gw;wp RHYk; nghJ. ehk; xU btspnehf;fpa jpirapy; 

Vw;gLk; ,Gtpiria czh;fpnwhk;/ mjw;fhd fhuzk; vJ ? 

 
 

 [A]  ika tpyf;F tpir [B] ika nehf;F tpir 

 [C] neh;nfhl;L tpir [D] RHw;rp tpir 
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8. The element which is a constituent of chlorophyll and gives 

green colour to the leaf of plant is : 

 

9.  

10.  

11.  

12.  

 

  

 

[A] Sodium [B] Copper 

 [C] Potassium [D] Magnesium 

jhtuj;jpd; ,iyfs; gr;ir epwkhf ,Ug;gjw;Ff; fhuzkhd. jhtuj;jpd; 

gr;iraj;jpy; cs;s cnyhfk; : 

 

 [A] nrhoak;  [B] jhkpuk; 

   [C] bghl;lhrpak;  [D] bkf;dPrpak; 

9. Silver metal is a white lustrous metal. Over a period of time 

silver articles becomes black - Why ?  

  
 [A] Carbon dioxide gas in atmosphere reacts with silver to form a 

black coating. 

 [B] Hydrogen sulphide gas preserved in atmosphere reacts with 

silver to form a black coating.  

 [C] Silver reacts with moisture to form black coating. 

 [D] Silver reacts with nitrogen to form silver nitride, which is black. 

bts;sp. xU xspUk; btz;ikahd cnyhfkhFk;. Mdhy; ehl;fs; bry;yr; 

bry;;y.  bts;spapd; epwk; fUg;ghf khWtJ Vd; ?  

 [A] bts;sp. tspkz;lyj;jpy; cs;s fhh;gd; il Mf;irL 

tha[t[ld; tpidg[hpe;J. fUg;g[ epwkhf khWfpwJ/ 

 [B] bts;sp. tspkz;lyj;jpy; cs;s icwl;u$d; ry;igL; tha[t[ld; 

tpidg[hpe;J. fUg;g[ epwkhf khWfpwJ/ 

 [C] bts;sp. fhw;wpy; cs;s <ug;gjj;Jld; tpidg[hpe;J. fUg;g[ 

epwkhf khWfpwJ/ 

 [D] bts;sp. tspkz;lyj;jpy; cs;s iel;u$Dld; nrh;e;J bts;sp 

iel;iulhf khwp. fUg;g[ epwj;ijj; jUfpd;wJ/ 
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10. Which of the antibody that provides early diagnosis of Dengue 

and the virus which causes Dengue is called :  

             [A]  Ig M and Flavivirius  [B] Ig G and Flavivirius 

             [C] Ig M and Togavirius  [D] Ig M and Alphavirius 

     
       fPH;f;fz;ltw;Ws; bjhlf;f epiyapnyna bl’;Ftpidf; fz;lwpa cjt[k;  

vjph;g;bghUs; kw;Wk; bl’;Ftpid cz;lhf;Fk; itu!; vJ>  

 

             [A]  Ig M kw;Wk; gpshtp itu!;  [B] Ig G kw;Wk; gpshtp itu!; 

             [C] Ig M kw;Wk; nlhfh itu!;  [D] Ig M kw;Wk; My;gh itu!; 

 

11. Under which category Pencillium does come ? 

____________________ :              [A]  Algae  [B] Fungus 

             [C] Protozoa  [D] Bacteria 

     
      fPH;f;fz;ltw;Ws; bgd;rpypak; ve;j tifiar; rhh;e;jJ > 

             [A]  ghrpfs;  [B] g{‚;ir 

             [C] xU bry; caphp  [D] ghf;Ohpah 

 

12. Which disease is transmitted through saliva and respiratory 

droplets 

             [A] Mumps  [B] Measles 

             [C] Flu  [D] Small pox 

     ve;j nehahdJ ckpH;ePh; kw;Wk; Rthr ePu;j;Jspfspdhy; gut[fpwJ ? 

             [A] bghd;Df;F tP’;fp  [B] jl;lk;ik 

             [C] ஃg;S  [D] rpd;dk;ik 
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13.  Which one of the following is considered as Chemical messengers. 

             [A] Enzymes  [B] Vitamins 

             [C] Minerals   [D] Hormones 

     

     fPH;f;fhz;gitfspy; ntjpapay; bra;jpfis mDg;g[dh;fshff; fUjg;gLtJ vJ>  

             [A] behjpfs;  [B] itl;lkpd;fs; 

             [C] kpduy;fs;   [D] ~hu;nkhd;fs;  

 

14. Imagine the following hypothetical situation: 

(i) Putting together all the plants of the plant kingdom on the Earth. 

 

 

(ii) Putting together all the animals of the animal kingdom on the 

Earth. 

Thereafter weighing (i) and (ii) separately  

[A] (i) and (ii) are of same weight. 

[B] (i) is heavier than (ii) 

[C] (ii) is heavier than (i) 

[D] None of the above 

    gpd;tUk; fw;gidahd NH;epiy Fwpj;J rpe;jpf;ft[k;  

(i) g{kpapy; cs;s jhtuf;FLk;gj;jpd; midj;Jj; jhtu’;fisa[k; xd;whfr; nru;f;f 

ntz;Lk;/ 

(ii) g{kpapy; cs;s tpy’;Ff; FLk;gj;jpd; midj;J tpy’;Ffisa[k; xd;whfr;  

nru;f;f ntz;Lk;/ 

 

gpd;dh; (i) kw;Wk; (ii) Mfpatw;wpd; vilfisj; jdpj;jdpna fzf;fpLk; bghGJ : 

[A] (i) kw;Wk; (ii) Mfpa ,uz;Lk; xnu vilapidf; bfhz;oUf;Fk;/  

[B] (i) ,d; vil (ii) ,d; vilia tpl mjpfkhf ,Uf;Fk;/  

[C] (ii) ,d; vil (i) ,d; viliatpl mjpfkhf ,Uf;Fk;/ 

[D] nkw;fz;l vita[k; ,y;iy/ 
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15.  The largest reservoir of phosphorous in the biosphere is 

 [A]  Atmosphere [B]  Rock 

 [C]  Ocean [D]  Animal body 

fPH;f;fz;litfspy; ,aw;ifapy; gh!;gu!; v’;F mjpf mstpy; fhzg;gLfpwJ ? 

 [A]  tspkz;lyk; [B]  ghiw 

  

 [C]  fly; [D]  tpy';Ffspd; cly; 

16) Recently we read in newspapers about the GM crops. What is the full 

form of GM ? 

 

 [A] Genetically Marketed. 

 [B] Genetically Modified. 

 [C] Green and Moisturous. 

 [D] Globally Marketed. 

 mz;ikapy; ehk; bra;jpj; jhs;fspy; GM gapu;fs; Fwpj;J goj;jpUg;nghk;/ 

       GM vd;gjd; tpupthf;fk; vd;d> 

 [A] kugQq uPjpahf re;ijg;gLj;Jjy;/  

 [B] kugQq khw;wg;gl;l  

 [C] gRik kw;Wk; <uk;/   

 [D] cyfshtpa re;ijg;gLj;Jjy;/  

 

17) The Nobel Prize (2019) for Economics has been awarded to 

Dr. Abhijit Banerjee and two others for their experimental    approach 

to: 

 [A] Eradicate black money. 

 [B] Strengthen the International Monetary Fund (IMF).  

 [C] Eradicate gender bias at work place. 

 [D]    Alleviate global poverty. 
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2019 –Mk; Mz;od; bghUshjhuj;jpw;fhd nehgy; gupR Dr. mgp$pj; ghdu;$p 

kw;Wk; ,UtUf;F mtu;fsJ ve;j nju;tha;t[ mQqFKiwapd; bghUl;L 

tH’;fg;gl;lJ>  

 

 [A] fWg;g[g; gz xHpg;g[/ 

 [B] gd;dhl;L gz epjpaj;ij tYg;bgw bra;jy;/          

 [C] ntiy bra;a[k; ,l’;fspy; ghypd ghFghl;il xHpj;jy;/  

 [D] cyfshtpa tWikia kl;Lg;gLj;Jjy;/  

  

18. The Tamil film “Asuran” is based on the acclaimed novel  “Vekkai”. 

The author of the novel “Vekkai” is : 

 [A] Su. Venkatesan 

 [B] Konangi 

 [C] Poomani 

 [D] Choodamani 

  

 jkpH;j; jpiug; glkhd *mRud;* g[fH;bgw;w *btf;if * vDk; g[jpdj;ij 

       mog;gilahff; bfhz;ljhFk;/  *btf;if * vDk; g[jpdj;jpd; Mrpupau; : 

 [A] R/ bt’;fnlrd; 

 [B] nfhz’;fp 

 [C] g{kzp 

 [D] N:lhkzp 

 

19. The telephone number allotted for 24 hour “Women Helpline” in 

Tamil Nadu for immediate and Emergency response to women 

affected by violence is : 

 

 [A] 108 

 [B] 181 

 [C] 888 

 [D] 208 
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 jkpH;ehl;oy; td;Kiwahy; ghjpf;fg;gLk; bgz;fSf;F 24 kzp neuKk; cldo mtru 

cjtp tH’;f tHp tif bra;a[k; bjhiyngrp cjtpj; jpl;lj;jpw;fhf xJf;fg;gl;Ls;s 

bjhiyngrp vz; : 

 

 [A] 108 

 [B] 181 

 [C] 888 

 [D] 208 

 

20) According to “The Sexual Harassment of Women at  workplace 

         (Prevention, Prohibition and Redressal) Act  2013”, sexual  

         harassment includes : 

 

  (i)    Physical contact 

  (ii)   Making sexually coloured remarks 

  (iii)  Demanding sexual favours  

  (iv)  Showing pornography 

           

   Which of the above is/are true? 

           [A]  (i) only 

  [B]  (i) and (ii) only 

  [C]  (ii) and (iii) only 

  [D]  All the above         

 

gzpapl’;fspy; bgz;fSf;F vjpuhd ghypay; Jd;g[Wj;jy; ( jLg;g[. jil kw;Wk; jPu;t[) 

 rl;lk; 2013?,d; go ghypay; Jd;g[Wj;jy; vDk; brhy; cs;slf;fpaJ : 

    (i)   cliyj; bjhLjy; 

  (ii)  Mghrk; fye;j $hilg;ngr;R 

  (iii)  ghypay; njitfis epiwntw;w tw;g[Wj;Jjy;  

  (iv)  Mghrg; gl’;fisf; fhl;Ljy; 
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 nkw;fz;ltw;Ws; rupahdJ-it vJ-vit > 

 [A]  (i) kl;Lk;  

  [B]  (i) மற்றும் (ii) மட்டும் 

  [C]  (ii) மற்றும் (iii) மட்டும் 

  [D]  மமற்கூறிய அனைத்தும்   

21) Which one of the following is not the aim of „Digital India‟ ?  

 [A] Paperless governance 

 [B] Person less governance 

 [C] Encouraging intermediaries 

 [D] Cashless governance 

 

 fPH;fz;ltw;Ws; vJ *o$pl;ly; ,e;jpah*?tpd; nehf;fk; my;y> 

 [A] fhfpjk; ,y;yhj MSif/ 

 [B] kdpju;fs; ,y;yhj MSif. 

 [C] ,ilj;jufu;fis Cf;Ftpj;jy;. 

 [D] gzkpy;yhj MSif/   

 

 

 

 

22) The port of India which has quick access to Suez Canal is : 

 [A] Mumbai 

 [B] Kochi 

 [C] Chennai 

 [D] Kolkata 
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